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General Instructions :
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(i) Read the paper carefully. All questions in each part are compulsory. Students
may use bilingual mediums (both English and Hindi) for writing, in which
technical terms should be written in English medium.

(ii)  Part A : Questions No. 1-7 are very short-answer questions carrying 1 mark
each. They are required to be answered in one sentence each.

(iii)  Part B : Questions No. 8-14 are short-answer questions carrying 2 marks each.
Answer to them should not exceed 30-40 words each.

(iv)  Part C : Questions No. 15-22 are also short-answer questions carrying 3 marks
each. Answer to them should not exceed 60-70 words each.

(v) Part D : Three questions from 23-25 are long-answer questions carrying 5
marks each. Answer to them should not exceed 100-150 words each.

g -
PART - A
HIHUT H SACAT Shl ST o= TN fema Sran g ¢ 1

What is used instead of tamarind in Konkan ?

WA @H-IM (Airline Catering) 1 g faraiaaTd s | 1

Write two characteristics of Airline Catering.
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faeh 1 A (THRY) ol ST H FI1 had & ?
What is Chicken curry called in Goa ?

Teh Tohal T o TS | T fohal giT <1 IcdTeA BT 2

Approximately how many Pooris can be made from one kilo of wheat atta ?

Th. 3ATS. Th. 3. (FIFO) ST T AR ?
What is the advantage of FIFO ?

qEEY R ?

What is Payasam ?

STITE 1 HUSRU fh8 190 W) fohan Siran @ 2

Mention the temperature at which Pineapple is stored ?

Wig -9
PART - B

et (Tender) T @UGRT i ferfer ToygmsT |
YAl

Teh WUSK TR o foTT fees (Bins) Wiied G0 3119 9 =R ST bl &4 T ?

Explain buying through tenders.
OR

What four points would you consider while buying bins for a store ?

i g A o T U 9 e aeRr s % T 319 o IR 92 39Skl T T

H 7

Which four heavy equipments would you use for Chapati and Chicken curry for five

hundred people ?

T TS =1 UTEY ST | 378 AT ST FeRaT ST E 7
Make a format of a bin card. Why are they used ?
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TH i T S IS TR RASHI bl TfeTd H THSAST |

Briefly explain any four dishes made on dums cuisine.

Th fFL(Cyclic Menu) mﬁ%amaaﬁﬁwﬁ |
YT
3 %1 Taferd F % I AR 1 g AR
Write two advantages and two drawbacks of using Cyclic Menu.

OR

Suggest four ways of balancing menu.

3%? e (Indent form) <hT &9 EF!T@ |

Draw a format of an ident form.
frafafigd o 37aT sqmsu ;
(1)  STeTY uE WHS

(i) <ol Ug Wiga

Differentiate between the following :
(i) Aabgosh and Roganjosh
(i) Dhokla and Khandvi

Qug — 1
PART - C

HATCAT TS T ATIA &l BIE o S ©: 37 I |
YAl
STt o W Sl T8 1 THTfd i 9T fohed] ©: ThTeh! o1 Jooig hIfWT |

Write six differences between Ala carte and Table D’hote.

OR

Explain any six factors affecting the meal preferences of a guest.
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16. $-3S (e-indent) FTE ? TS (Indenting) o TGl =1 THET | 3

What is e-indent ? Explain the principles of indenting.

17. W @l (Centralized Purchase) Q?sf HIRIA (Quotation) gRT @{GHT o o T 3TRW

sy | 3
Write three differences between centralized purchase and purchases through
quotations.

18. T (R o @re Yol bl AR i o B: alieh g | 3

Suggest six ways to control the food cost of a restaurant.

19. Tt aame = foru wd) 3=2fdn v o 70 ues 9% i for ©: SRl w1 A @ =y 7 3

Which six factors a chef should consider for indenting accurately for any function ?

20. F=fIRad i 0T HIT : 3
(i) |E R (Food Cost), &l @&l Hfererd 20% T& fersht 2000 2 |
(ii) fershi; <& g PR 400 TH % Hre Ffavd 25% 7 |
(iii) IATH o Wb (After wage profit) IT=Td ; STa et feshl 2500 T @Tel AFTd 800
(RS L) 3T T AT (S HIEE) 600 % |

Calculate the following :
(1)  Food cost; when food percentage is 20% and sales is 2000.
(i1) Sales; when food cost is 400 and food cost percentage is 25%.

(ii1)) After wage profit percentage; when total sales is 2500, Food cost is 800 and
Labour cost is 600.

21.  USITE i o hIS B: &I SIS] T IUiF HIFT | 3

Describe any six main dishes of Punjabi Cuisine.

22. IS o § qed 9 7 ht fafert gro s+, d-de v afe o dferg | aoe
SHifoT | 3

Briefly describe three Indian breads each which are made by deep frying and roasting
methods.
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PART -D

23. TiAfaiad THeRI % TR IUNATTA (Overhead cost) 3hl TTOMT ShIfSTT 7 ITeh! et forshl
(Total Sale) = Tyl T faerq Afiremws HifT :

24. U TSR Rl 3194 Bled & 9 AN (Labour Cost) d1 3IUR AT (Overhead Costs) ED)

242

it T (3)
e forshl ( Total sale) 50,000
fertran 5,500
[EEIEE] 2,000
HERCEGE] 700
forsreft 1,200
ol 300

Calculate the overhead cost and its percentage to sales from the following information :

Receipt Amount )
Total sale 50,000
Rent 5,500
Advertisement 2,000
Gas and Fuel 700
Electricity 1,200
Water 300

%1 T o -4 A ¢ |

Tree Wt (YHTford <o fafer) & 319 o THerd & 7 99 T i o 3718 R fod |

Suggest five ways each a Manager can reduce the labour and overhead costs of his

hotel.

What do you understand by a standard recipe ? Write eight reasons for using it.

AYAT

OR
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25. TomafaRaa = «fers o wwemsy -
() T
Gi) ot
(i) 9T
(iv) T
(v) ™
Briefly explain the following :
(1) Rista
(i) Phirnee
(ii1) Venpongal
(iv) Puranpoli

(v) Haleem
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